7325

#ERNZ / Components

BT =hJLF—% / Technical Datall
##{4ThILY / Recommended torque: 0.3N*m ~ 0.6N-m

F view
FE / Product Number
o -0 -0 O L) - D0
Hei% Wik DfiE B R/A ERP/H B
H dimension W dimension D dimension Feet (R or A) Screw (P or H) Color Type

RB1t#% / Feet specification

B f2E R4L#E / Original trapezoid head screw specification

No. %5 / Part name = / Pos #8 / Material & - REAIE / Color+Finish
. I—F—7avy 4 FIEH ¥Rk ADCI2 DIN—, TSR
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
2 Rt ) TV A A6063S-T5 DIWR— , TZvY- TR/
Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized
3 TL—L 4 TV # A6063S-T5 DIWR— TV TR
Panel support frame Extruded aluminium A6063S-T5 Silver , Black*Anodized
4 ISR ) T ILEAR A1100P DIWR—, TFvT- TR
Panel Aluminium A1100P Silver , Black*Anodized
5 Hi— 1 FILZHR A1100P DIIIN— , TF9Y-TILIA+
Top cover Aluminium A1100P Silver , Black*Anodized
6 Thii— | T ILEAR AT100P DIWR—, TFvT- TR
Bottom cover Aluminium A1100P Silver , Black*Anodized
EFN - TPE (T5RF) I3vY
7 Ruber feet 4 TPE (Elastomer) Black
TSR FILT &Yy L DW=, TSV TLIA & T
Aluminium feet Aluminium & Silicone Silver , Black*Anodized & Black
s HRAHE R (M3 x 8) 16 % ST ILAYE
Screw (Flat head M3 - 8) Steel Nickel plated
9 BAFE R (AFM3 x 5) 8 % ZuirLAvE | ZEE/0A—t
Screw (Trapezoid head M3 - 5) Steel Nickel plated , Black trivalent chromate
10 WAER AU FEM4 x 8) 4 £ ZEEI/nA—k
Screw (Bind head M4 - 8) Steel Black trivalent chromate

@30 10

12

® b | O

[R]T L / Rubber feet

FILZRE / Aluminium feet [P] 75X / Phillips

75 A / Hexagon-socket

X TNIRDBETAN—LRBEGYETS,

3 Color of aluminum feet will be the same as bottom cover color.

f1t#% / Color Type
5% / Code | aA—+—7J0v% / Corner block {8I#R / Frame JXNFJL / Panel #H/8— / Top cover | TH/3— / Bottom cover
S S 2 )LiS— / Silver 2 )LiN— / Silver 2 )LiN— / Silver < JLIS— / Silver < )LsS— / Silver
S B 75v% / Black 2 )L13— / Silver 2 )LiS—/ Silver | LJLs8— / Silver < )L1N— / Silver
B S 75v% / Black 75v% / Black 2 )LiN— / Silver 75v% / Black 75v% / Black
B B 75v?Y / Black 75vY / Black 75y / Black 735y / Black 75?9 / Black

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

i/ Title
TSy r—X
ALUMINIUM ENCLOSURE

o]

RE/Scale

A2/ Approved %[/ Checked #[X/Created

1R x A

#4% /Product number

AU133-20-1600-0O0

~R—/Page

{ER B /Date 2022/11/16

1717

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




D view

B-B(1:4)

113

153

E view

7o o)
c
\* ®
A view
200+ 05
- A
B
7]
o
S04
o)
S
= A
F view
T o)
o D

A-A(1:4) C-C(1:4)
0 0
o [Te}
- N
0
146 192
C view B view
160+ 0.5
i/ Title
TAKACHI| #AEHIDTFEHIE FILZHvr—2Z @ :I
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM ENCLOSURE
#2/Approved #R[X|/Checked #[X/Created F& /Product number RFE/Scale
1:4
iR x L2 0) AU133-20-1600-0O0 p 7w
1ERLH /Date 2023/03/16 2 /17

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fAl#x / C Frame

XM / Front side

D {8l#% / D Frame

M / Front side

131.5

110 22.5

125.2

3.2

33

33

3.2

251 / Back side

221 / Back side

2-M3FAHY I}
2-M3 Countersunk
¥ R*IEHEHE / Same on the other side.

EE' EE%

B2/ Title
TAKACHI] #RXaitanFE@TE Bl @]==
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
2 /Approved #R[X|/Checked #[X]/Created #4%/Product number RE/Scale
1:3
iR x (320 P =y
H133 - D160 e B/Date  2023/01/05 3 /1

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




225

150

0
<
1.6
<
2 {O> 3
>/ N\ o
5 5 3 33
2-M3AHYIR
2-M3 Countersunk
ET47K / Total 4 pieces
m/Title
TAKACHI] BRL#4hFEHITE TL—L @]==
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
755/ Approved #R[X|/Checked HX|/Created #4%/Product number RIE/Scale
1:1
i 3 54 .
W200 {ERE /Date 2022/11/16 4 /17

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /N2RJL / A Panel

150

121.2

A#hTi% / Max dim. 142+ 0.5

XM / Front side

B /A% JL / B Panel

XM / Front side

BT / Max dim. 113.2+0.3

RE—MA

Surface protective film side

RE—MA

Surface protective film side

251 / Back side

Z7H / Back side

fad/Title
TAKACH) #=&#snF BRI R o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
2 /Approved #&[X/Checked #[X]/Created F& /Product number RIE/Scale
1:2.5
iR ES it R—T/Page
H133 - W200 YERLH /Date 2023/03/10 5 /17

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




189.4

4-R14.7 4-@45
170 2

BHHtiE / Max dim. 113+£0.3

<
g 8
REE—MaI
Surface protective film side
O O O [©)
AT / Max dim. 153+ 0.5
R / Front side 2@ / Back side

RERHIATBRIE | i O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
A2/ Approved #&[X/Checked #[X]/Created F& /Product number RIE/Scale
1:2
iR ES Eaza) R=T/Page
W200 - D160 {ERL B /Date 2022/11/16 6 /7
AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




189.4

170
4-R14.7
1414
o)
< <
g 8 5

H¥$~TiE / Max dim.

R / Front side

153+ 0.5

H#hTiE / Max dim. 113+ 0.3

4-M4

4-g45

REL—MA

Surface protective film side

ZEME / Back side

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

a/Title
THhi—

Bottom cover

o]

A2/ Approved #&[X/Checked #[X]/Created F& /Product number RIE/Scale
1:2
iR ES it R—T/Page
W200 - D160 YER B /Date 2022/11/16 1771

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




